PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

1st August 2016, 03:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Which of these museums was built by Raja Mansingh Tomar? / ?g:lﬁ T B9 9 EPHGERIE] 1=n=rﬁr5' GIE R
GIRT I-TAT T YI?

 Rani Durgawati Museum / I _g'Tl'h'&"ﬂ' P HEE

® Tulsi Museum / m UL

® Gujari Mahal Museum / '{Flﬁ Hed IdUsTad

® Jahangir Mahal Museum / \_fIE'ITﬁT Hed IUgTad
Correct Answer :=-Gujari Mahal Museum / 'ﬂﬁ'\ﬁ Hgd IUsrayg
2)

Question Stimulus :-

If the bread is toasted and mayonnaise is spread on it then either I will go hungry or I will
have acidity. I am neither hungry nor have acidity so mayonnaise was spread on the bread.

/ 9 98 &I eie fhar o1 § iR 39 R AAS T ST & o a1 af § YT I8 S a1 g3l TRifsd! gt
SRATH A7 @ oy § 7 81 g TRifsd 7 safie fane s W e Al

* True / I8!

¢ False / dd

e Maybe / 'epf Hbdl %

e Irrelevant / RIfI®
Correct Answer :-False / Tdd
3)

Question Stimulus :-

Shri Omkar Mandhata temple is known for its 2/ it Gﬁﬁ"ﬂ HTRITAT 'Fl'ﬁ'\f G'I'qﬁ %1%113 SITHAT
SITdT 82

® Tunnels/ S

()



® Jyothirlinga/ SatfafefT
* Caves/ TWBTY
® Panchamrit / GITd

Correct Answer :-Jyothirlinga/ SOl
4)

Question Stimulus :-

Junain said to his boss, “Sir, | need a leave. My sister’s father has invited me to the wedding of his one and only son.” To

who’s wedding does Junain want to go?/ﬂﬁ?{e[ 3= ah@fw, "W,ﬂé@'ﬂﬂ%ﬁl ﬁﬁﬂ?ﬂ'%ﬁ?ﬂﬁ'm
SHAI a9 P A G W fFar 81+ e [Faat It A SMT a8 g2

® His sister’s / SDI 951 DI

® His brother’s / 3H® HTS DI

® His own / SH®!I 3T

* Heistelling alie / A [ SIATET &
Correct Answer :-His own / SH®! 3[U=I
5)

Question Stimulus :-

The river Brahmaputra in its course of about 1,200 km in the upper mountain ranges upto Namcha Barwa is

known by the name of/wq?ﬁm‘l-m 1,zooﬁoﬁtﬂaamﬁmﬁﬁmuﬁasj@mﬁmaww
g, Sadede |

® Dhansiri/ SFRIY

® Manas / HT9H

* Tista /T

® Tsangpo / T
Correct Answer :-Tsangpo / <57qT
6)

Question Stimulus :-

What is the day on 25th May 1999? / 25 Hg 1999 &I ®I- 4T fa= 22

©)



e Monday / THaR

* Tuesday / HI@AR

* Wednesday / gYdR

® Thursday / T¥dRR
Correct Answer :-Tuesday / HTddR
7)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowe

g, b sl R IR Rew sy F Tw 2 :

If you are wearing a badge, then you are a captain / i 3y S TR gu¢ %’, o ey Th HUMA %

e If you are not wearing a badge, then you are not a captain /qﬁaﬂqaﬁrﬂﬁm@%’,
Y 3T HE T &

e If you are not a captain, then you are not wearing a badge /U%WWHH%T%, o
3T T 181 T

 If you are a captain, then you are wearing a badge / gfe 3Y Th
HWHE &, <l 37 39 T g &

* None of the above / Iﬂ'ﬁﬂﬁﬁﬁaﬁiqﬁ

Correct Answer :-If you are not a captain, then you are not wearing a badge / afe 3y

FE 8] g, df 31T S g1 I &1
8)

Question Stimulus :-

In the following question, there is certain relationship between the last two terms. Choose
the first term from the following options which has a similar kind of relation with the

second term. / 59 uy ¥, Sifdw @t uel & diw frslt R T 13 Ty 71 Fy e & I ygar g g
/T gaR e & A1y S UHR &1 WY gl

? : DURXQG : : POLITY : SROLWB
e AROUND
e SHOULD

¢ ARMOUR

(4)



e GROUND
Correct Answer :~AROUND
9)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fove

g, ab sl R IR Re s s Tw= 2 :

If it is 5:00 pm, then I will go home / (¢ IM & 5:00 I &, o # I ST

e Ifitis not 5:00 pm, then I will not go home / gfe JMH & 5:00 T g %', GIE: R P
iR

e If I go home, then it is 5:00 pm / If¢ # TR ST, &1 }MH F 5:00 T &
e I will not go home, then it is not 5:00 pm /Hﬁﬁﬂ?qﬁm, I M9 & 5:00 q%‘ra@r%

®* None of the above / Wﬁﬁﬁéqﬁ

Correct Answer :-I will not go home, then it is not 5:00 pm /gfe ® &R T8 GITE\"TU, GLRIIE
% 5:00 &l 991 §

10)
Question Stimulus :-

“Prabhudha Bharat” was written by / “UgY HIRd"” fras g1 fafaa %?
® Ramakrishna Paramahamsa / JTHHWT RS
® Swami Vivekananda / et ﬁaw
® Sarada Devi / RMRGl aﬁ
® Bipin Chandra Pal / it o= ura

Correct Answer :-Swami Vivekananda / WTH! fad®r-ig

11)
Question Stimulus :-

Who was the last Deputy Prime Minister of India? / HIRd & Sifaw Iu gy ®iF A2
® Chaudhary Devi Lal / et S e
® Morarji Desai/ WIS %ﬂ'l_sc

(®)



® LK Advani/ qa%? 3{TSaroft

® Jagjivan Ram / EUEICERIE]
Correct Answer :-LK Advani / T TSATOit
12)

Question Stimulus :-

R K Narayan was awarded the highest literary award of India, for this novel. / SR % ARTIU B HRd &

Tate ATefes RIGR A T f6a1 7T o1, 59 Su=urd & fog:
® Bachelors of arts / § IR AP 3T
 Swamy and friends / WTHI TS g
® The guide / T3S
 Malgudi days / TS 39
Correct Answer :-The guide / IS S

13)
Question Stimulus :-

1. A,B,C,D,E,F and G are sitting around a circle and are facing the center. / A,B,C,D,E,F IR G

9 & fiid 90 ¢ ok $x F1 3k 9w P gu &

2. G is second to the left of C, who is to the immediate left of F. / C > 911 3R G QKHQT%, S F
¥ fQaga a¢ Irit 3k

3. A is third to the left of E / E & 910t 3R A I R1 @

4. B is between D&E /B, D IREFS I & g

If A and C interchange their positions, B’s position will be:/ 3R A 3R C 34 | ® Mg |
gcd o, o B T T gNIT:

e Bis second to the left of A. / A & STl 3R ¥ B g&RT BT
e Bis next to C. / C & dI¢ B g

e B is third to the right of A. / A & il 3R B JRT 811

* B is second to the right of G. / G & R’ 3k B g&RT NI

(6)



Correct Answer :-B is third to the right of A. / A & il 3R B =1 gl

14)
Question Stimulus :-

The Pallava Kingdom was also called . | Ued ATHTST &l Y wa1 SITar ATl

* Tondainadu / A STFHSAH ATH

® Pallava peeth / Uceld Uir)
¢ Pallavapuri/ Wﬂﬁ
* Shravasti / HTaI
Correct Answer :-Tondainadu / NSTSHSAH TS

15)
Question Stimulus :-

Ravi is 7 ranks ahead of Sumit in a class of 39. If Sumit’'s rank is seventeenth from the last,

what is Ravi’'s rank from the start? / 39 Wﬁﬁi&ﬂﬁﬁ'ﬁﬁlﬁ'\e{ 7 T 3T B uﬁgﬁam@m
FaT d 19 9 17 3, 9 SWR I I ST R HT 8?2

e 14th/ 147
e 15th /157
e 16th /16T
o 17th s 177
Correct Answer :-16th / 16 9

16)

Question Stimulus :-

A bell rings in a school after every 25 minutes. The enquiry clerk told a person that the bell
rang 10mts before and the next bell will ring at 10.05 am. At what approximate time did
the enquiry clerk give this information to the person? / & 25 fiH¢ & UYTd TP pd | Gel

ol 31 USdaIS T6% A TP Al &1 gam & 9el 10 fAFe ugd ool ot 3iv 3rTeft 81 wid:10.05 W®
TORil | ISaTS TP = AT 59 I IR 98 TSR 39 HAfad Bi 412

® 9.40am /9:40 UTd:
e 9.50am /9:50 YUTd:

(7)



e 9.35am /9:35 VUId:

® 9.55am /9:55 Uld:
Correct Answer :-9.50am / 9:50 UTd:
17)

Question Stimulus :-

City Fruits orders Apples from Himachal Pradesh. The transportation cost of apples is
Rs.200 per kg and cost of storing them in a cold storage is Rs.100 per Kg. Right now there
are 100 Kgs of apples in the storage. City Fruits plans to place an order. / TET & Badrdl 3
Ruraa uex A I WA €1 A9 B ufkaes anra ufd fhal 200 FUT 3 3R IA@! Bics TR A TIE FH
gggﬂuﬁrmm 100 ¥UT g1 3nft HSRUT & 100 fFaumy A9 &1 e F BAaTd ST 31 B FloHT

I

Suppose the demand for apple is not known with surety. It can vary from 500 kg to 1000
kg. If the store wants to minimize his expenses on transporting and storing apples, how
much should it order and what will be the expense of this order? / HH ?ﬁﬁrl't{ & J9 &1 =i
WY =7 q 719 781 &1 & 500 kg & 1000 el % o ol 81 S g™ Ad S IRae iR
TUBU W 3T T B HH DT A84! 8, a1 SHD! (a1 TS ST ALY 3N TH ATEX BT WA fdaT gHIT?

* 1000 kg, Rs. 3000 / 1000 f¥dl, ¥UT 3000
* 500 kg, Rs. 1500 / 500 f&dl, ¥Ud 1500

* 400 kg, Rs. 1200 / 400 f&dl, FUT 1200

® 400 kg, Rs. 1000 / 400 f&@l, ¥UT 1000

Correct Answer :-400 kg, Rs. 1200 / 400 f&@l, ¥U¢ 1200

18)
Question Stimulus :-

Which of these are the most important towns in Malwa region? /TTH Y DIF-ATAdT &7 # IId ww

?
® Panna and Ujjain / UdT 3R =i
® Ujjain and Indore / IS 3R 3&?
e Rewa and Bhind / 4T 3R fijus
® Umaria and Rewa / SHNAT 3R far

Correct Answer :-Ujjain and Indore / 3% 3R 3R

19)
(8)



Question Stimulus :-

Which article of the Constitution abolished untouchability? / g™ & o GFJ,@E' STERYAT DI T H
fem?

* Article 42 / 3¢ 42
e Article 15/ 3G 15
* Article 14/ 3JEG 14
o Article 17 / 359G 17

Correct Answer :-Article 17 / 3G 17

20)
Question Stimulus :-
lbyte=__ bits/1d3c = _____ foew
e 8
e 10
« 100
e 16

Correct Answer :-8

21)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fope ﬂﬁt{
st T T Y=l wd el & R & 9E ?1

Statements: / PYA:

All boys are hard workers / J4l d8% Agdl &
Ramu is a boy / T U ASHT ¢

Conclusions: fwpd:

I. Ramu is a hard worker / 9 Agdl &

II. Shyam is not a hard worker / Wﬁ%ﬂ?ﬁqﬁ%

® Only conclusion | follows / *ad freed 1 Headr %
9)



® Only conclusion Il follows /Wﬁﬂ%’& i fFreear %

® Both conclusion | and Il follows /ﬁf@ﬁf I Gﬁ?’ I1 azﬁ ﬁlﬁ‘lﬁ %

® None of the conclusion | or I follows/ﬁ'l'mﬂf IFTIIH Y ?ﬁg T'I%’l' IECSGI %
Correct Answer :-Only conclusion | follows / *ad ey 1 Headr %
22)

Question Stimulus :-

Find the word that represents the category of the following three words. / dg R 31d Fifor
it g i real @t Joit B gfaT @

Fraud, Jealousy, Hatred / 9d, ?;'El'f, quor
® Destruction / famm=T
® Envy/GlcH
® Human characteristics / HI™ Ed| ﬁ"\ﬁm
® Quality / TUT
Correct Answer :-Human characteristics / H ™ CARERIEGIY

23)
Question Stimulus :-

In the following question, some group of letters is given, all of which, except one, share a
common similarity while one is different. Choose the odd one out. / oy fr, [:3) Tl F

g f3d g, <t wfl, $aa U ol SieH, UM € 99iP TP @ ¢ | fauy 9t B g
* AE
* AI
¢ I0
e EI
Correct Answer :-Al

24)

Question Stimulus :-

(10)



Select the option, which is the logical equivalent of the statement given below: / dg ﬁm
gL, aF BT e I TR iy T 9 & w9H §

If you are riding a bike, then you need to wear helmet. / ¢ 37 915 IdT I8 &, I YD

AT UgH P o 2

 If you are not riding a bike, then you need not wear the helmet. /

g MY 15 81 Il I8 &, df 3MMUD! eaHe Uga+ Bl Sevd 8! gl

e If you are wearing a helmet, then you are riding a bike. / af¢ 3T @@ Ug g &, dl
AU ITSH AR &

e If you are not wearing a helmet, then you are not riding a bike. / af¢ 314 g&de 6!
UE U T, ) oY AT e gen 78

* None of the above / 3U& & I HI3 LI |

Correct Answer :-If you are not wearing a helmet, then you are not riding a bike. /afe

3ITY FHE 181 U8 §U 8, d 31U qT3 81 Il 33 3l

25)
Question Stimulus :-
CANCELLED

Select the option that is true about the Statements and Conclusions given: / dg oo gﬁnz
it 3T T wy=Y vd el & 9 & 98 21

Statements: / PYA:

All doors are windows / 94 gva™ f&sfear €

All windows are handles / 9t fGsfeal g €
Conclusions: / e

I. All doors are handles / Tt Ra™ T &

II. Some windows are doors / $© fJsfdai xa™ &

® Only conclusion | follows / Fad e 1 Feadar &
® Only conclusion Il foIIows/Wﬁf@Fﬁ MGEZGI %
® Both conclusion I and II follows / ﬁ'ﬁﬂf I G'FR' II Eﬁ:ﬁ ﬁlﬂ)_d% %

® None of the conclusion I or Il follows / fTepd I a7 IT & & ﬁ's‘ TS frpear g
Correct Answer :-Only conclusion I follows / Faa ey 1 fAeaar %

(11)



26)
Question Stimulus :-

What is the full form of SCRA passed in the year 1957? / a9 1957 § uriva fopar T T IRT" &1 GRT 91H
1 3?

® Stock Control Regulation Act / e o fafvaae srfufeas
® Securities Contracts Regulation Act / Ilﬁf“-ﬂ% Tfaer fafraas srfufrm
® Stock Contracts Regulation Act / W '\‘Iﬁa'l' e sifafFam
® Securities Control Regulation Act/ uﬁﬂ-ﬂ:ﬂ ferizror faferae= srftferaa
Correct Answer :-Securities Contracts Regulation Act / Uferaffer Sifaer fafeaw= srfuf-raw

27)

Question Stimulus :-

National Rural Development Institute is situated at ./ ?Tg\'q YTHTOT o S _ﬁ' fRa gl
e Shimla / RM@r
® Hyderabad / %GTIW
® Patpa/UcHl
e New Delhi /=8 feeit

Correct Answer :-Hyderabad / 8eR19TS

28)
Question Stimulus :-

What is the full form of SATYAM, launched to strengthen research in the field of yoga? / TR & & | S-Iﬂ'\q Ut

DI AoIgd 1 & [T Y= Fpar ey &1 ol &9 |1 32
e Satellite for Yoga and Medicine /AT 3R fIfrear & forw Searse
e Science and Technology of Yoga and Meditation / TRT 3R A BT ICEIERE] Menfiret
® Science and Technology for Yoga in Medicine / ﬁiﬂq 3R Eﬁ?ﬁﬁﬁ‘ﬂ frard @& PQ’I'E{I
® Salvation through Yoga and Meditation. /AT Gﬁ? ST & H1T o n‘ra-r ]

Correct Answer :-Science and Technology of Yoga and Meditation / IRT 3fR @9 &1 fag=
T4 WRNfret

(12)



29)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe ﬂﬁE
st foT T Hy=T wd frewsl & I & 9 Bl

Statements: / PYA:

Some fish are not kids. / $© "USfadl 9= g1 1
All fish are flies. / Wt 7ofmal afdEwi g1
Conclusions: / fAsmd:

I. Some flies are not kids. / $© AfRayi 5= 81 B
II. All flies are fish / WY afRaai Ao §1

® Only conclusion | follows / Had ey 1 fAeadar %

® Only conclusion Il follows / Wﬁrwwf I fFreaar %

® Both conclusion I and II follows /1P d I 3% IT S e %

® None of the conclusion | or Il follows / fsed 1 a7 11 ® @ aﬁ'sf '—-Iﬁ IECZSGI %
Correct Answer :-Only conclusion | follows / pad ey I fwedr &
30)

Question Stimulus :-

In the following figure, rectangle, square, circle, and triangle represent the regions of
wheat, gram, maize and rice cultivation respectively. / % 3rpfa &, smad, o, ga ik Ao

HUR: g, I1,UTHT 3R TTad B Wl & &F B g=0id g

(13)



6 7 11“:.
/ 10

Which area is cultivated by maize only? / &9 83 & $9a #ad &I Tdl gl 82

Correct Answer :-3

31)

Question Stimulus :-

A , popularly known as lie detector, records several physiological indices while the subject answers a

series of questions./ s S grdeifre =g A 06} f&eaes I ST wiTan %, fafira ?ﬂ'\ﬂﬁa?wﬁaﬁ
TS ST & e cafad @S arel BT SraTd a1 ¢

® Polygraph / GTARITE
® Barograph /dlg qld RG]
® Heliograph / ESIEIRILD
® Lithograph / EIRILG
Correct Answer :-Polygraph / GrairiT®

32)

(14)



Question Stimulus :-

Who won the Dadasaheb Phalke award for the year 2014? / HT¢l 2014 T grerdred WW e Shrar
Yr?

® Manoj Kumar / G| PHRR

K Balachander / & QTG

® Shashi Kapoor / ST PP

® Soumitra Chatterjee / CICEEGT

Correct Answer :-Shashi Kapoor / X3 YT

33)
Question Stimulus :-

Kamlapati Palace is located at__ ./ HHATI T TAT _ﬁ R %l
® Bhopal / yiara
® Asirgarh/ 3RTG
* Gwalior / TTfeRIR
® Mandu/ 'FI'IT§'

Correct Answer :-Bhopal / HTUTd

34)
Question Stimulus :-

How many times has the Asian Games been held in India? / fopaat WQ’Q’N’I’Q‘@F& & WRd | mafora fomar
e

® One/Ud
e Two / |
® Three/d
* Never/FHT &t
Correct Answer :-Two / &l

35)

(15)



Question Stimulus :-

Following are the three positions of a cube. / 99 91 dF fRufagi Fg veR 4 &

TOM , RON
Th Ikl
JACK TOM
15t view 20d view
RON
NEAL MEL
3 view

What is the name on the bottom face of 2" view? / &R I & dd & BAD W KT A1 §?
* NEAL
* RON
* JACK
* M
Correct Answer :-JACK
36)

Question Stimulus :-

The jumbled letters of words are given below. Each letter has been humbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form

meaningful word. / Y& & AT &R 1 A T &1 UdF AR P GHifhd fovar a1 §1 98
e g ot adfe 2 @ v & R Semei F wu § iRl BT 9 w9 a1 8

INLASG

123456
e 2,4,3,6,1,5
e 3,4,6,1,2,5

e 51,6,2,4,3

(16)



* 61,3542
Correct Answer :-5,1,6,2,4,3
37)
Question Stimulus :-

Battle of Plassey was fought between the English and / Rt BT & 3V 3R & ST T™ar
YTl

® Tipu Sultan /?ﬂ"l'\ﬂ?\ﬂq
® Haider Ali / 8S% 37alt
® Siraj-ud-Daula / RRTe EaﬁT
* Shivaji / Rrameit
Correct Answer :-Siraj-ud-Daula / RIRTS 3¢ gia

38)

Question Stimulus :-

Who amongst them have not been awarded the Nobel Prize? / a4 3 foaer WW'@W&H el
o war &2

® Amartya Sen / 3T I

® Rabindranath Tagore / TSI SR
® Mahatma Gandhi /WTTﬂ'iﬁ

® Mother Teresa / HGX S¥dT

Correct Answer :-Mahatma Gandhi/ﬂ?l_d:lTTl"[‘ih

39)
Question Stimulus :-

Who among the following has had 3 stints as Governor of Madhya Pradesh? / Fafafaad 9
P11 T WeR & ISAUTd b FU H 3 HRIBT 81 THT 32

° BDSharma/aT‘ﬁm
® Chengal Rao Reddy / WW@

¢ KM Chandy / & TH di&l

(17)



® Balram Jakhar / JeRTH SAS
Correct Answer :-B D Sharma / df §f IH{
40)
Question Stimulus :-
Branches of five banks A,B,C,D and E are as follows: / A,B,C,D 3R E UTT 961 Eﬁw o % -
1. A, B and C are in Indore and Bhopal. / A, B 3R C sﬁ?t{‘q’ ‘l-ﬁ'mﬁff%'l
2. A, B and E are in Indore and Gwalior / A, B 3R E & Ud qIferaR # &1
3. B, C and D are in Raipur and Bhopal. / B, C 3iR D IQR T4 Hiura & &1
4. A, E and D are in Gwalior and Jabalpur / A, E 3{R D TIfeiaR T4 S9ayR & &1
5. C,E and D are in Raipur and Jabalpur / C,E 3R D W@Wﬁ?l

Branch of which bank is in Raipur and Indore but NOT in Bhopal? / & 9% &1 am IayR iR
ek # g W YUt | F81?

D
° A
e E
e C
Correct Answer :-E

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

The greatest five digit number divisible by 98 is / 98 ¥ faHTsg ¥ad ¢! T=T &
e 49980
* 99960
e 99980
e 99999
Correct Answer :-99960
2)

(18)



Question Stimulus :-

CANCELLED

25 women can do a work in 15 days and 15 men can complete the same work in 20 days. What is the ratio between
the capacity of a man and a woman? / 25 Hieae T &9 & 15 e | QSTWW%GFR 15'3'\“[3'\‘?[
$H P 20 fe § T HR Tod &1 AT 3R Ul $I &HaT & §H R JuTd 82

® 4:3

® 34

® 2:3

® 32
Correct Answer :-3:4
3)
Question Stimulus :-

When 15 is subtracted from 5 times of a number, we get 65. Find the number? / SId 15 P IABTF 5 pGL q

el STdl 8, df 89 65 fremr g1 9= Mg

® 15

® 26

® 16
Correct Answer :-16
4)
Question Stimulus :-

If FICTION is coded as CIFTNOI, what will SEMINAR be coded as? / Af¢ FICTION &1 cIFTNOI T SifSd fopar Srar

8, a1 SEMINAR P & Pifsd forar smam?
® MESIRAN
© MESIRAM
© MISERAN

® MESINAR

(19)



Correct Answer :-MESIRAN

5)
Question Stimulus :-

In a certain code language MATHS is coded as LZSGR then in that language GEOGRAPHY is coded as: / foodt @ g

ﬂﬁﬁﬁwﬁ MATHS ! LzSGR ¥ HIf&d forar SITaT @ a1 39 HIUT § GEOGRAPHY &I B Hifgd forar

® FDNFSZOGX
® FDNFQZOGX
® FDPFQZOGX
® FDNFQZQGX

Correct Answer :-FDNFQZOGX

6)

Question Stimulus :-

21 _3 " 9
3 3
Addto ? 10 the smallest fraction which will make the result a whole Number? /
21 3,2
5 T
2 5 10 T SifsT 9a9 Sier {3 s ukomw ue qui J=m 3m?
1
e I
b
5
[ ]
3
z
o 3
4
)

o

Correct Answer :-

7)

Question Stimulus :-

(20)



In the following question, one term in the humber series is wrong. Find out the wrong

term. / 9 Uy &, T ST § U U AId @] ToAd UG A BIoR|

1,8,27,64,125,215

® 125

* 64

® 215

° 1
Correct Answer :-215
8)

Question Stimulus :-

Complete the series choosing the missing letter/s: / faqW 3&R TAH STAT HI R HIOC : _ _
bdac_d _cb_ac_d

® acbbad
® acbabd
® acbadb
® acbbda

Correct Answer :-acbadb

9)
Question Stimulus :-

What is the least number that must be added to each of 16, 13, 10 and 8 so that the
resulting numbers are in proportion? / PED 16,13, 10 3R 8 & 1Y B It FAqH d=AT
SISt ATfeT drfer TfkumdT J=ame JaTurd § §i?

Correct Answer :-2

(21)



10)
Question Stimulus :-

The catalogue price of watch is Rs. 575.If discount of 12% is allowed then find its Selling price? / b
TS P G G 575 T B 1 12% B Fe rem & 91 39T faw! g fvan sim?

® Rs.606 /30T 606
® Rs.506 /3FUUY 506
® Rs.406 /30U 406
® Rs.306 /30U 306

Correct Answer :-Rs.506 / 74T 506

11)
Question Stimulus :-

Complete the series choosing the missing number: / AW T=T TAH @1 BT QT DI :

2,6,18,54,
®* 160
* 164
®* 158
* 162

Correct Answer :-162

12)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬂ'lﬂ SI&R AP y@ar ol T DI : aab
_bca_cda__cd _

® abcd
® bcde
® abdd

® abbe

(22)



Correct Answer :-abbe

13)
Question Stimulus :-

Two cars start from the same place in opposite directions one goes towards North at 60 km
/ hr and other goes towards South at 75 km / hr. What time will they take to be 405 km
apart?/ & &1 faurdia fzmait # T € WM A 901 3= FRl € T 60 fbtit/ger 31 wfa @ SR & 3R
wﬁ%ﬁ;mﬁ?m 75 freli/der ot wfa T <fénr $Y iRk STt 81 Te gk ¥ 405 fFit @ em & 9! feam
q9Y ?

® 3hrs/3Ec

1

S

hrs/ 2 2 e

¥

e 2

® 2hrs/2%¢

1 1
e 3% hrs/ 32 w2

Correct Answer :-3 hrs/ 3 4¢
14)

Question Stimulus :-

From a container having pure milk, 20% is replaced by water and the process is repeated twice. The percentage of milk

is/ TP g1 9§, ORI Y5 gU 8, 20% B I A Iear TAT § 3R 59 Uihar ®I & 9% I’ W/ 7
Y DI Uf=radr g

* 60%

* 62%

® 65%

* 64%
Correct Answer :-64%
15)

Question Stimulus :-

There are four alternatives for the following question. Find out the correct one. / favy s

forg IR fawew §| W& aren Y|

i. '‘Quo Cui Heer’ means ‘Boy is Good’ / ‘Quo Cui Heer’ WW% ‘Boy is Good’

(23)



ii. ‘Lai Quo Mea’ means ‘Meena is fair’ / ‘Lai Quo Mea’ Wﬂﬁﬂ'a’% Meena is fair’
iili. 'Ruo Lev Mea’ means’ ‘All are Fair’ / ‘Ruo Lev Mea’ Ww% *All are Fair’

iv. 'Si Hai Cui’ means ‘Dog was good’ / ‘Si Hai Cui’ PTATAS & ‘Dog was good’

Which of the following encryptions stands for Good? / ¥ TRru=Hl § ¥ Good & forw &9 @1

22
* Quo
® Cui
e Heer
e Lai
Correct Answer :-Cui

16)
Question Stimulus :-

What is the average of all prime numbers between 1 and 25? / 1 3R 25 & §9 F I e
T=elt BT i = 3?2

* 12
* 11.1
e 11
* 121

Correct Answer :-11.1

17)
Question Stimulus :-

If alphabets are encrypted as numbers, J-B+D is equal to / g 3reRl & T=meli & Tu
uf=py fopar T §, @1 J-B+D SRIR & 59

e 9
e 21

e 16

(24)



e 12
Correct Answer :-12

18)
Question Stimulus :-

A’s income is 50% more than B’s. How much percent is B’s salary less than A’s?/ A &I a9 B & 39 I 50% 3P

21 B BT 9d9 A & 9a4 I fopa+ Uiz #9 a2

®* 33%

1
* 33%

1
* 333%

1
* 332%

i
Correct Answer :-332%

19)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / 79 28 T3 ¥R yal & ¥ 9 A M vad F St GHE 19 A1 v 81 82

Meier, Joel

School of Forestry
University of Montana
Missoula, Montana 59812

(406) 243-6459

(i) Meier, Joel

School of Forestry
University of Montana
Missoula, Montana 59812

(406) 243-6459

(25)



(ii) Meier, Joel

School of Forestry
University of Montana
Missoula, Montana 59812

(406) 243-6459

(iii) Meier, Joel

School of Forestry
University of Montana
Missoula, Montana 59812

(406) 243-6459

(iv) Meier, Joel

School of Forestry
Univeristy of Montana
Missoula, Montana 59812

(406) 243-6459

® iii
e jv
Correct Answer :-iv

20)

Question Stimulus :-

If the selling price of 10 articles is same as cost price of 11 articles. Find the gain Percent /10 ?:Rﬂx"rﬁﬁ

Pt o 11 awg3it & ANTg Yod & SRIeR 31 A1y Ui=id &7 udT eFmg

e 11%



® 20%
* 30%
* 10%
Correct Answer :-10%

21)
Question Stimulus :-

(963/9)x4-(850/50)x2-666/6x7=?
e .338
® .833
® -383
e .883
Correct Answer :--383

22)

Question Stimulus :-

Find the value of "C,, / "¢, T HIF fHIferd

Correct Answer :-0

23)
Question Stimulus :-

Complete the series choosing the missing number: / AW TQIT TAH T HI T DI :

16,22,30, 52,66

(27)



® 45

* 43

* 40

° 38
Correct Answer :-40
24)

Question Stimulus :-

How many triangles are there in the following figure? / IEE] Gﬂ?ﬁf ¥ fea B g2

5

® 10

® 15

° 14

e 13
Correct Answer :-14
25)

Question Stimulus :-

In throwing of a dice, the probability of getting an even number is / E;Pf e W'\‘ﬂ?-l'ﬁm!'l Gai) HW%W
AT 3TQ?

° 1/3
° 1/4

(28)



* 1/6

* 1/2
Correct Answer :-1/2
26)

Question Stimulus :-

Four cards are drawn from a pack of 52 cards. What is the probability that there is one card of each suit? / 52 ?I'I'Q'h @t

TH TS A A 4 =N B FebTen SITar 81 1 SUTaHT @ i at TS aE § | TS IR g
* 13/52¢,
e 13%52C,
e 13%/52¢C,
e 13%/52¢,
Correct Answer :-13%/52¢,
27)

Question Stimulus :-

A train 100 m long is running at the speed of 45 km/hr find the time taken by it to pass a man standing near the railway

time?/ 100 T Tt TH < 45 foptil/dieT &1 7fa F IAd] 8, TTd De (P ¥d Bt U3t & U TS Th ATSH Bi
TR A § IS fpa-1 G9a arm?

* 12sec/ 12 AHS
* 10sec/ 10 HS
e 8sec/ 8 qdhs
* 2sec/2 AP

Correct Answer :-8 sec/ 8 &S

28)
Question Stimulus :-

The series given below contains a s:equence_of_al-phab'ets and numbers. Identify the
incorrect combination: / - &t TS SG@T &Rl T4 TBATSHT BT SIHH TGN Bl §| ITAd Fale
U |

(29)



(i) hf8o7e6uwa
(ii) hf8o7e6uwa
(iii) hf8o7e6uvva

(iv) hf8o7e6uwa

® i

® jii

® jv
Correct Answer :-iii
29)

Question Stimulus :-

If alphabets are encrypted as numbers, A+B-F is equal to / gfe 3Rl & gwns & U d
uf=py far a1 8, 9 A+B-F SRR & 39%

Correct Answer :-3

30)
Question Stimulus :-

Complete the following sequence of figures. / Wﬁ'lﬁ * 49 ®H Bt R B

AN VAR VAVANN B

(30)



vy

[/

Topic:- Science and Simple Arithmetic
1)

Correct Answer :-

Question Stimulus :-

A rainbow can be seen in the sky / S%UYJ¥ &I 3ATHTA A aET SIT b dl %
® when the sun is in front of you / SId '\‘I& 3P TqTHA Eﬁ?IT %
® when the sun is behind you / SId ﬁif 3P T '@T‘IT %
® only at the time of sunrise / WW & aHg
® when the sun is overhead / STd ?Iﬂf MRy FwRAaT?

Correct Answer :-when the sunis behind you / SId '\Tf 3Mus e Eﬁ?ﬂ %

2)
Question Stimulus :-

The disadvantage of friction is that / gy 9 REZSIE K % % :
® |t causes wear & tear / 3'\‘1% PRI ¢c-c 'Gﬁ?ﬁ %
® |t causes much wastage of energy / Ug Solt B qggd aaﬁﬁ DI PRUT T %

® |t produces heat / Ig HBHT SUA DIl %

® All the above / SWRigd It

Correct Answer :-All the above / SURIad It

3)

(31)



Question Stimulus :-

Following six questions are on the basis of the data given in the following table, which
gives the annual production (in thousands) of 5 products of a famous toy company./

Frufafad o8 vy Ay Tt & YR R 8, S & ve UG Qe su-l & 5 Idel & aiffe Ided &1
(39 #) fewmar 31

Year/a% LVLAW Scrabble ,ﬂ%ﬁ?—l’ Ch essﬁl?li\_:rl' Monopoly/ | Carrom/
AT | A
1992 200 150 78 30 65
1993 150 180 100 105 70
1954 180 175 92 110 85
19395 1495 160 120 125 75
1996 220 185 130 135 80

What is the approximate percentage increase in the production of Monopoly from 1993 to 1995? / 1995 ¥ 1993 dF

WUl & Iures | T wfa=d i & 82
® 10

* 20

e 25
Correct Answer :-20
4)

Question Stimulus :-

Following six questions are on the basis of the data given in the following table, which
gives the annual production (in thousands) of 5 products of a famous toy company./

e o8 vy 9 9T & YR R 2, S & U9 uRig QT $u- & 5 IUEI & e Sdigd 3
(5vRI ¥) femmar g1

(32)



Year/d§ m Scrabbleﬂé‘ﬁﬂ' Ch Essﬁm Monopoly/ | Carrom/
1992 200 150 78 90 65
1993 150 180 100 105 70
1994 180 175 92 110 85
19395 135 160 120 1325 75
19396 220 185 130 135 80

For which of the following toys, the ratio of the production in 1996 to that in 1992 is the highest? / ﬁ'ﬂﬁ'@ﬁ 49 5y
Qe & T, 1996 & IAIGT I 1992 & IAIGH HT SIU Iad SMUF 82

® Chess / [avol

® ludo /@'

® Monopoly / EIEINIG])
® Carrom / Cares)

Correct Answer :-Chess / d3sl

5)
Question Stimulus :-

If the area of a circle is 50 m?, the area of a semi-circle of this circle is

/ afe &<t 99 &1 &awa 50 Wev2 , 3 @ 59 9 & Sitigd &1 &wa
|

e 5m2/ 5 %2

e 25 m2/ 25 Wex2

* 50 m2 / 50 Wiex2

* 100 m2 / 100 Hiex2
Correct Answer :-25 m2 / 25 Hiex2
6)

Question Stimulus :-

Find the perimeter of a circle, which has a diameter of 42 feet. / 3 d< BT gAY BIG] ?fﬂﬁl"!, T TN 42 Wie %I
(33)



® 132 square feet /132 T Bie
* 132 feet/132 BIC
* 1386 feet / 1386 BIC
* 13.86 feet/ 13.86 WIC
Correct Answer :-132 feet / 132 I

7)

Question Stimulus :-

o

The rational number —1¢ / URAy "= 18

®* has either a positive numerator or a negative numerator / Harar TP YFTHS 3 q1 Th
BUTHS 3 Bl

®* has a negative nhumerator / i Th BUMHD 3 %I

* has neither a positive nhumerator nor a negative numerator / = | ?ﬁw YTHD 3 % T4
9 g TP BUTHS 3 71

* has a positive numerator / ¥ Th YTHSD 3 1

Correct Answer :-has either a positive numerator or a negative numerator / Harar TP
YITHD 3T IT T BUNHS 30T &

8)
Question Stimulus :-

You are entering the exam hall with a little fear about the type of questions. Which of your endocrine gland will

be most active atthismoment?/GﬂqUﬁ$W$ﬁﬁ3ﬁ?ﬁW%Wﬂqﬁ&ﬂﬁ&fﬁmm?%%l
39 &UT 3P B At Siqara Uiy gaq arer Jfepa gl

® Thyroid / 3Idg pIE]

® Pancreas / TR

® Ovary testes / STSTIRI qUUTI

® Adrenal gland / WW hfy

Correct Answer :-Adrenal gland / 3fUqap HfY

9)

(34)



Question Stimulus :-

If x2 =-512,then x= /dfdx% =-512dt x =

¢ 2

Correct Answer :--2

10)

Question Stimulus :-

The slow process of conversion of dead vegetation into coal is called / §d Il T Brge | gfafad oI DI
et uftpar peardt @

® Esterification / QR'@W\"UT

® Saponification /ﬂ'l@T-nWUT
® Carbonization / CACIBICRL]
® Polymerisation /_GIWT\"UT

Correct Answer :=Carbonization /ﬂﬂﬁw

11)
Question Stimulus :-

The aquatic animals like fishes excrete nitrogenous waste in the form

of and the birds excrete in the form of / S
Sitg S gSferr AgcoHgad Rk F U ° Ioafola wedl & aur ueh
¥ ¥ H Ifold ®ed 2

® Urea, uric acid /qﬁm, qﬁﬁ SR

® Ammonia, urea / G@ﬁ'qT, ?Iﬁ'CIT

® Urea, ammonia /T{ﬁTIT, ST

® Ammonia, uric acid / am’rﬁm, W < )

Correct Answer :-Ammonia, uric acid / siﬁﬁm, ?Iﬁ!ﬁ 3
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12)
Question Stimulus :-

A man painted his iron gate, mainly to / T 3{TGH 7 30 dIg & WIed P T, T&Iq:
® prevent it from rusting / 38 ST @1 A 91 & forg
® protect it from sun / S8 YU I TAH & @
* make it look beautiful / 3 GIGRd §H & fo@
® make it dust free / I YT Gad T4 & I
Correct Answer :-prevent it from rusting / 38 S &1  §91 & forg

13)

Question Stimulus :-

f" 3}_{ \i ¢ 3’:1 “\i
cot —-1 cotl -4
IfsinA=1/2,find =~ ~ /3dsinA=1/2, =~ °~ FABI
e 1
°* 0
3

* is undefined / 3MURYIRG &
Correct Answer :-1
14)
Question Stimulus :-
What is manure ? / @T¢ HT %?
® Manure is an agricultural product. / @I¢ Tdh ?ﬁl Il %l

® Manure is added to the crops to make it grow better. / "lq &I W?ﬁ o EGIEIESIG %’ m’@ | ém
fowfa 8 9@

® Manure is chemically based substance. / dlg IS YT tl?.{[?f %I

e Manure is an organic substance obtained from the decomposition
of plant and animal wastes caused by micro-organisms. /4G t&

(36)



mﬁwﬁ%ﬁﬁﬁ%ﬁaﬁ?mﬂaﬁ%mﬁmwﬁ%q&qvﬁa’rmmﬁuﬁi%miﬁ%; 7

Correct Answer :-Manure is an organic substance obtained from the
decomposition of plant and animal wastes caused by micro-organisms. /@G T&%

s el g ol diel ofk SR & iRy verif & gen sial gRT srqeued @ ure far S 81

15)
Question Stimulus :-

Evaluate 397 * 397 + 104 * 104 + 2 * 397 * 104. / 397 * 397 + 104 * 104 + 2 * 397 * 104 DT HIF HPIITI
* 250001
* 251001
e 260101
* 261001

Correct Answer :-251001

16)

Question Stimulus :-

The number of oscillations per second is called / Elﬁf '\aﬁ?ug | ﬁel' areit Z‘aFF-ﬁ @t I Wﬁ'ﬁﬁ % :
e Amplitude / 3ITATH
® Frequency / B-HQ'RT
® Time period / JHY 3ard
® OQOscillation / aﬁ?

Correct Answer :-Frequency / 3Gl

17)
Question Stimulus :-

The mean proportion between 0.32 and 0.02 is: / 0.32 Qa 0.02 DT HEHT";[EITEﬁ % :
® 0.008
e 0.4
0.8

(37)



« 0.08

Correct Answer :-0.08

18)
Question Stimulus :-

Find the total surface area of a cylinder which has radius 14 cm and height 20 cm. JACL; S BT qﬁh m Iid ﬁﬁl’ﬁr
oIt AsuT 14 A 3R S 20 TH 81

® 2993 cm? /2993 IH 2

e 2992 cm?/ 2992 A 2

e 2292 cm?/ 2292 A 2

* 2229 cm?/ 2229 A} 2
Correct Answer :-2992 cm?/ 2992 9+ 2
19)

Question Stimulus :-

Wind chimes & Bells are made of metals that demonstrate its / 9T W G'ﬁT ufvegl 39 iﬂﬂ\"rﬁ' CIRCEI] Eﬂ?ﬁ %
<) g UeRid #d &

e Malleability / Smaraagadr
e Ductility / d=dI

e Sonority / ¥ddl

¢ Conductivity / dTdodl

Correct Answer :-Sonority / 4oadl

20)
Question Stimulus :-

A porter ties a piece of cloth around his head when he has to carry heavy loads because / Th w o9 Ht 4T

oI ST €, 98 3 R & IRY 3R $US BT U ¢haT 91Y AT 8, TN :
® |t does not hurt his head / Wwﬁ?ﬁwu?ih'c:ﬂ'aug"ﬂm

* Tt decreases the area of contact of the load / ST I6H & HUD BT &F HH Tl SIdl g

(38)



e It increases the area of contact of the load / w@ oI & YUP BT & CERSIGH %

® |t keeps his head cool / wmﬁ?ﬁwwﬁ%

Correct Answer :-It increases the area of contact of the load / $HY ToH & TU® $T &F I¢
ST 8

21)
Question Stimulus :-

One-fourth of one-third of two-fifth of a number is 10. What will be 40% of that number?
/ U T & 3 URId & TP fgTs &1 ¢ DNYTS 10 §1 ST =T BT 40% FIT B2

® 220
e 350
* 120
® 180
Correct Answer :-120

22)

Question Stimulus :-

A polymer cotton is made up of cellulose having large number of units of / T LISIEeEd %\_‘S’ '\ﬁﬂ?ﬁ'\‘[ T frees 9+
g R 3uat | it I=rm | @

® Ester / TN

® Ethene / THH

® Amide / THISS
* Glucose / T

Correct Answer :-Glucose / @I

23)

Question Stimulus :-

What is natural vinegar? / U@ﬁﬁ? R @ 82

® Citric acid / ATSf¢® 3
® Lactic acid /ﬁm SR

(39)



® Acetic acid /@ﬁ?ﬁ 3R
* Alcohol / UGHIGIA

Correct Answer :-Acetic acid / Tife¢® 3

24)

Question Stimulus :-

A spoonful of curd was added to a glass of warm milk and was kept for a few hours. It turned in to curd. Name
the organism responsible for curd formation . What was its source? / Uch frem 1) q U JHd ool
Rramar SITaT 3 ok 39 99 Hel & fiu 3 foun <irar 31 3 <8 # ufvafdd 8 Tar 39 Silg &7 A9 Jd13¢
il 81 & 991 & fog freieR 31 S91 Wi 1 &2

® Rhizopus- Curd /TIETrﬁTR’[ - aﬁ'

® Lactobacillus- Curd / Aoy - ol

* Yeast- Milk / @HIX - gY

e Lactobacillus- Milk / A I RIa - g4
Correct Answer :-Lactobacillus- Curd / Al RIa - &gt
25)

Question Stimulus :-

AQ
AC
If AABC ~ AAPQ and if AP = 4, PB = 3 and PQ = 5, find / afe¢ AABC ~ AAPQ 3R
A0
AC
gfe AP =4,PB = 3 3RPQ =5, dl I B
L
F /’. Q
AN
) N\
B ¢
4
3
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A |

Ly | - | 4

) QR

Correct Answer :-
26)
Question Stimulus :-

Microorganisms which feed on dead and decaying matter follow /ﬁ&ﬂﬁﬂﬂ Eil Hd T4 &HT Terd @ %', G
T SR FRd 7

® Parasitic nutrition / RS gryor

® Heterotrophic nutrition / RIS Wyor
® Saprophytic nutrition / m qryor
® Autotrophic nutrition / U Wy

Correct Answer :-Saprophytic nutrition / SUBTIZSI® TUT
27)
Question Stimulus :-

Following six questions are on the basis of the data given in the following table, which
gives the annual production (in thousands) of 5 products of a famous toy company./

FafafeT o8 vy Ay aifereT & nuR W 8, S @ U uRig fQ{e1 $ul & 5 Il & aifie Idgd &I
(T9RI ®) faman g1
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Year/d§ m Scrabbleﬂ%‘?ﬂ' Ch Essﬁm Monopoly/ | Carrom/
1992 200 150 78 90 65
1993 150 180 100 105 70
1994 180 175 92 110 85
19395 135 160 120 1325 Fa
19396 220 185 130 135 80

The production of Carrom in 1993 was what percent of the production of Chess in 1993? / 1993 ﬁ, I BT i,

RS & IdIed BT fHa-T ufa=a 412

* 80
e 70
* 35

® 20

Correct Answer :- 70

28)

Question Stimulus :-

Following six questions are on the basis of the data given in the following table, which
gives the annual production (in thousands) of 5 products of a famous toy company./

e o8 vy A aiiereT & MyR R 8, S & U9 uRig QT U & 5 IAUEl P e Sdigd 3i

(Z9Rl ¥) fezamar 21
Year/dq m Scrabble/EHee | Chess/3Ta¥ar | Monopoly/ | Carrom/
1992 200 150 78 g0 65
1993 150 180 100 105 70
1954 180 175 52 110 83
1935 185 160 120 125 75
1936 220 185 130 135 80

(42)



For which of the following toys, the total production of all the 5 years is the maximum? / ﬁ"}lﬁ'f@?‘[ @F?Fﬁ # 9 foad
forg, Tt 5 96l &1 Fa I SfwHan 82

® Ludo/ Q\??f

® Scrabble / Thad

® Chess / QRS

® Carrom /&%
Correct Answer :-Ludo / TSI
29)

Question Stimulus :-

An example of periodic motion is that of a / 3ITadf i BT Tdh 3qler Ul U % i
® Table clock / o9d 'Eﬁﬁ
e Wall clock / SR TSI
* Digital clock / 31T TSI
® Simple pendulum / IR GIGED
Correct Answer :-Simple pendulum / 93¢ AA®
30)

Question Stimulus :-

Following six questions are on the basis of the data given in the following table, which
gives the annual production (in thousands) of 5 products of a famous toy company./

Fafafea o8 vy A9 Tt & nyR W 8, S & te uRig [T Ul & 5 IUel & e Idgd 3
(5ol ®) fewmar g1
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Year/d§ m Scrabble H%a’?ﬂ' Ch ess}’&m Monopoly/ | Carrom/
1992 200 150 78 90 65
1993 150 180 100 105 70
1994 180 175 92 110 85
19395 135 160 120 1325 Fa
19396 220 185 130 135 80

What is the percentage drop in the production of Ludo from 1992 to 1994? / 1992 ¥ 1994 TF ﬂ\?:?f ¥ IAe H
g RRTae Fa1 82

® 30
® 50
® 20
® 10

Correct Answer :-10
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